
SAP ABAP table ROIUOW_OWN_REQ_OWNER_KEY {Owner Request: Owner Key Fields/Selection Fields}

ROIUOW_OWN_REQ_OWNER_KEY

OWN_NO [CHAR (10)]

OWN_INT_TYPE_CD [CHAR (2)]

BUKRS_FR [CHAR (4)]

BUKRS_TO [CHAR (4)]

OWN_INT_TYPE_CD_FR [CHAR (2)]

OWN_INT_TYPE_CD_TO [CHAR (2)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

BUKRS_CONS [CHAR (4)]

VNAME_CONS [CHAR (6)]

DOI_NO_CONS [CHAR (5)]

SUSP_CD [CHAR (3)]

SPRAS [LANG (1)]

OOWN_INT_TYPE_CD [CHAR (2)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROIUOW_OWN_REQ_OWNER_KEY-OWN_NO = LFA1-LIFNR 

0..N

1

OIU_CM_LXPGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

 ROIUOW_OWN_REQ_OWNER_KEY-PRI_GEO_LOC = OIU_CM_LXPGL-PRI_GEO_LOC 

0..N

1

OIU_CM_LXSGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

 ROIUOW_OWN_REQ_OWNER_KEY-SEC_GEO_LOC = OIU_CM_LXSGL-SEC_GEO_LOC 

0..N

1 OIU_CM_PINTTY

OWN_INT_TYPE_CD [CHAR (2)]

 ROIUOW_OWN_REQ_OWNER_KEY-OOWN_INT_TYPE_CD = OIU_CM_PINTTY-OWN_INT_TYPE_CD 

1..N
1  ROIUOW_OWN_REQ_OWNER_KEY-OWN_INT_TYPE_CD = OIU_CM_PINTTY-OWN_INT_TYPE_CD 

1..N

1  ROIUOW_OWN_REQ_OWNER_KEY-OWN_INT_TYPE_CD_FR = OIU_CM_PINTTY-OWN_INT_TYPE_CD 
1..N

1  ROIUOW_OWN_REQ_OWNER_KEY-OWN_INT_TYPE_CD_TO = OIU_CM_PINTTY-OWN_INT_TYPE_CD 

1..N

1

OIU_CM_SUSP

MANDT [CLNT (3)]

SUSP_CD [CHAR (3)]

 ROIUOW_OWN_REQ_OWNER_KEY-SUSP_CD = OIU_CM_SUSP-SUSP_CD 0..N

1 OIU_DO_DI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

 ROIUOW_OWN_REQ_OWNER_KEY-DOI_NO_CONS = OIU_DO_DI-DOI_NO 

0..N

1

OIU_DO_JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 ROIUOW_OWN_REQ_OWNER_KEY-VNAME_CONS = OIU_DO_JV-VNAME 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ROIUOW_OWN_REQ_OWNER_KEY-BUKRS_CONS = T001-BUKRS 

0..N

1

 ROIUOW_OWN_REQ_OWNER_KEY-BUKRS_FR = T001-BUKRS 

0..N

1

 ROIUOW_OWN_REQ_OWNER_KEY-BUKRS_TO = T001-BUKRS 

0..N

1

T002

SPRAS [LANG (1)]

 ROIUOW_OWN_REQ_OWNER_KEY-SPRAS = T002-SPRAS 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ROIUOW_OWN_REQ_OWNER_KEY-LAND1 = T005-LAND1 

0..N

1


